Abstract

Because there is no standard slide rule for the direct conversion of length, width, volume, mass,
Energy and Pressure, a new slide rule for the direct conversion of weights and measures has been
devised.

The standard slide rule has been converted by installing a series of new scales, one for each factor,

and the calculations can be made quickly. easily and with fewer operations.
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El1 LU & 8 &

* 7 3 4 A | 4 =«
-] I
Flg oz |w 9 |adz|Laz|§ F[EF : B
UX 1 0| —14 | —13
7] 144 1 0 —13 —12
v A 1 0| —11 | —10
my 1 0| —10 -9
= 3 1 ol =7 | —s6
3 mm 1 0 —4 —3
e cm 1 0| —3 | -2
= dm 1 0] —2 | -1
= m 1 0| -1 0
km 1 0 2 3
ES 1 10745 (3 1919 Ao
VT 995861 | 001801 0 W (4 1 Hd_; 7303
F 945 | 02457 15
Yd yard 9144 | 038864 —1
«/acre 636139 | 196448 1 lacre(Fu}g 149 o))
Va —il IH (34 199 o))
VE g | 000029 ) 247928 =2 |1& (393199 o))
< " 7 39273 | 405906
VB 314919 | 501801 1 18 (9 199 7))
o fit feet 3048 | 515985 —1
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¥ 303030 | 518514 —2
s R —1
ES 0
=D 2t —2 19 (39w 149 o))
v w | 20264 81261 =1 |1 A 189 Qo))
in inch 254 | 595166 —2
+ | NAUT MILE 18532 | 732078 3
INT MILE 1852 | 732359
FATHOM 18288 | 737834 0
F (M, vVF 181818 | 740358 0 M=UFCWE 199 o))
¥/IMP GAL 165658 | 780787 —1 13% galon (3 Q1 181¢] A o))
ST ANOTE 16093 | 793363 3
3/US GAL™ 15585 | 807293 -1 125 galon (3 )} 18] 2 e])
I 5 121732 | 914595 -1 15] (B 1) o)
iy 109091 | 962211 2
LITER liter 1 0 —~1
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T 7] ke 4 B v ES
=T o EE Ll i
e = |a 9 |amz[Laz|d F[55
mg 1 0 -7 —6
7]
= g 1 0 —4 -3
o
9
5 kg 1 0] -1 0
=y
ton 1 0 2 3
Me mass of 91083 | 040563 -
electron
ST u.s ton 907185 | 042304 2 sh ton
T =< 60000 | 221849 —1
Ib pound 45359 | 343334 —1
A " e 0
=% 375000 | 425969
—~ L = 7 -3
ul
=
OzZ 2 2 | 283495 | 547455 -2
<l
Y carat 20000 | 69897 —4
=
~ eV electron volt —36
=k 178247 | 748978
9 MeV (milllon) —30
i mass of
Mp proton 16724 | 776658 —27
=
AMU atomic | 16609 | 779834 —27
mass unit
SLUG slug 14594 | 835826 1 ft-1b A] A ek
int J joule 111287 | 953561 —17
LT pound ton 101605 | 993086 3 e ton (I ton)
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Tl ¢ oz |w 49 |caz|La=z|§ |55
_75,]__"‘:‘ J joule 1 0 —1 0
3 e erg 1 0 —8 —7
m ke 980665 | 008483 0
Rigrd 83147 | 080156 0
Hps 74541 | 127602 2
ITKal 41868 | 378812 3
'ﬂ int KWh 36007 | 443615 6
A HPh 26845 | 571141 6
A=
9 PSh 26478 | 577112 6
_j::{ ft3+Ib/in? 19524 | 709434 2
ft.oIb 13558 | 867809 0
BTU 10551 | 97671 3
st dlin® 10132 | 99431 2
ot ] 10002 | 999914 0
E4 PU &£ 2 x
T 7] 3 <] 2] | - ;
¥ aL
= 9] Py 2 23
= |4 x| 4 |auwz|iaz |y J|559
ZJ_ at=kg/cm? 1 0 =1 0
.“;JT- g/cm? 1 0 —4 -3
B kg/m? 1 0| —5 | —4
Ib/in2 703076 | 152994 2
b/ft2 488248 | 311366 g
oF i, Hg 34532 | 461777 2
* in H,0 25400 | 40483 —3
3 oy [l 135953 | 86661 —2
by Torr 132017 | 879374 =8
= br atm 103596 | 98466 0
i 103323 | 985805 0
bar 101972 | 99153 0
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LR G—-Q=0— (-1 =1 0.25 X 10' ;.
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12 SHRE FHdEE 33, 1971)

{ | =23.4 X 107
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Mu| R B 14.6 X 10%V
1 T
(6 @
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@ I !
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2G—Q) =2[—1— (—2)) =2
26,7 X 10% in?

N3t 2=
[(B.7]] 20. Root

1

K

2.1 acre = * m?

28 diagram o] 1} @l AbkAl ol w2l AA gl whze,

2(G—Q)+1=2(1—O)+1=3.

‘_15“

8.5 X 10°m®

2(G—- Q) —1=2(1—(-1)]—1

2) 2.lacre= (Yym)? JVor =
T7EA Y &
1) ) clu Ef]
L] Vacie w ]
B 2.1 85 ¥
C\ (2)/‘ 9. 22+% ’
1) @) (1)
J 13
LU& 211 v'acre \
B’ 8. 5% LN '
C (2) |
2) ol 2. lacreYu}Eg e 189 Ao]E m= Tl AR & F
F 3z) 44 (271] 19 (1) dodake] wlvf

1 F diagram | A FE 5 859 T7ko] By olvk By ok TAdE el wheiA

o] sk Y3k (e o] dares AL & ol Aot}
DollA -2 8.5 X 10° % 4xteglFo] B2 B, T7toll4 dl$=+&= Cr3d e
9lefokul &2 wro] Hth F /85 X 10°m? =9.22 X 10'm 1) 71)

IIL. 3} 7HEd&k4t

A T A

(B~]] 21. 8.

o

1)

s

m

? dm?® (=7 liter)

@Y
!

v

LU |

dmilliter

-1

n
-2

/8.5 1;539 ‘

o #eke 1.39% K, 7ol

3{6 = Q) 2=g(-8~— [=1)]+2
=—1

= 1.39 X 107! liter

gernzg e tF wo oF ¥
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16
2) ® $
ry| 22 - | 36G-Q —1=38(—2—(—2))-1
1.39 8.5
K| ¥ “o | = =1

| | we g At A

glow,

8.5% K, T2+l HAska 1.39% k T3kl 8

fro

o
N

2
o,
e
He

3) 8.5 K, T2 3tdE 2) diagram 3} 2-& Fo] 5=
ooz Q4 gaEFE gFolok sla 2) 9 FLI dAkst Ao sk
(27]]) 22. 10.5USgal =?[="? &
10.5% K, Tzl HA 172 g},

@ (0 (3)
1 L .
= 'USgal
LU| V3 Vo -1
22:2 10.5 40
| K| % @ * |
1) 3(G—Q) =3(—1—(-1)1=0 § 40 X 10°] = 40/
h=
H

2) 3(G—Q)—2=3[—1—(—2))—2=1 22.2 X 10' &

IV. elatgtt
1L 13 9284 G-  ¥dF oA CD

= = m(cm, dm) kg (ton, g, mg), joule(erg) 2

_\_o.
Hr

Q' = slider 7} whzl ¢ 7] Euk

i

at = kg/cm? 5¢] Question power & 2]w] ght},
() Aol g LU
(2~7]] 23 1 2.3 350 4.6 59 inye 2 mels?

[}]
i:z m|
LU‘ Lt i -
C‘ 2.50  5.84 890 | (@
D\ 1 23 350 1
| | | :
3] 4] 5]
m i
Lu| ™ - ! O =—1
a ®
©®c 117 151 i
4.6 59
D| ? P
7 8J
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bt
oS
o,
do
A
By
Hr
ajl
R
-
N

G—Q =—2-0= -2 lin=2.54 X 102 m
2.3in=5.84 X 1072 m
350472 = 890 X 1072m
G—Q =—-2—(—1) =-1 4.6in=1.17 X 107 m
59in=15.1 X 107 m

oL

() E2E A =g A3
100 59 wh$Igkate]c}, ¢
T 7t 2 astef

FIF AL 94 (7] 5. F)A A7 10,

o
FRANAE Bhe 2719 (51ge]4 Bl wol 2

U=

rlo

(L) 8 gBHy MU

(B27]] 24. 3, 0.5 10 150 J7-& 4 kgal7}?

| & |
/v * * *
2) C‘]l 1.8 0.3 60 ‘
D[ =1 -1 3 0.5 10 .
MU‘ kg s 1 t 1 Q=-1
1 3 YN
e
CI 60 900 (7)
Dl 10 150 0 _—
MU ’ T 1 kg Q 0
€] 9

(3]
(4] 0.5 =0.3X 100kg = 3kg
5] G—Q —-1=[-1—(-1))—1=-1 { 107 =60 X 107" kg «—

EF 102 o 8%F 4% D, (43x) e

37 =1.8X 10°kg = 18kg
} G—Q =—-1—(—1) =0 [

60 CE37F gl glemz dxels W&
(8] =[8]
(9

(=) Energy @ o1% wh9le] J23hat

10fF= 60X 101kg <«
C—Q=—-1-0=—1 {

150 fr = 900 X 107! kg
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18 SRR FscE (A 33, 1971

(2.~]] 25. 40 60 8 100 15 4.5 1000 ¥ = m? ¢l 7} ?

@y
l (3] r4] (5) (6]
LU I3 1 D 4 4 ,
anm Ve H 0% % b | Q=-1
Bl 13.3 0. }99 2.65 333 ‘
\A * * * *
| ) ]
(9 r103 1y (12 [131 (14)
1 l o m
A 15 45 8 1000 15 0 Q=0
B‘ 333 40.7 148 2.65 3330 49.7 |\
(3) ,
(4) A9 B Y vzelrz —1, 2G—Q)—1=20— (-1))—1=1
¥ (8])) (B=bEl kb 408F = 13.3 X 10'm2

0. 65F = 0.199 X 10Ym?
8HF = 2.65 X 10'm?

(6] A.(100)¢} B, -2, 2(G—-Q)—2=2[0—(—1)]—2=0
1008F = 333 X 10%n1?
9)=(6
(23 []] A, 3+ B, 2(G—Q) =2(0—0) =0
(1o]
100F = 333 X 10%52
158F = 49.7 X 10%n?
(11]
] A, 3 B, +1, 2(G—Q) +1=2(0-0) +1=1
% (12)=(5]
4.5 = 1. 48 X 10'm?
8FF = 2.65 X 10'm?
(13]
‘ A, ¢+ B, 2(G—Q) =2(0—0) =0
(14]=(10]

1000 = 3330 X 10°%mn>
158F = 49.7 X 10%m>
(#) 23 QBRANA B £FA T4 A4 45L FAD,

2 o] B KEAA Beuksh o] slided] 1F =E 0 EF J4 F oL
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